
Warm Up 
You have 4 minutes to discuss and write the following 

about the graphs of deer population on your table: 
 

1. What differences do you see between the two graphs? 
2. What could account for the differences between the two 

populations of deer? 
Hint: Think what deer need to survive. What can interfere with a 

deer’s survival? 
 

 



Agenda 
•  Warm up- Graph analysis 
•  3.1 Notes: Communities 
•  Lab: The Ups and Downs of Populations 
 
 

Homework (Due Wed/Thurs):  
3.1 Section Assessment (pg 69, #1-5) 
 



3.1 Communities 



Life in a Community 
•  Limiting factor: Any biotic or abiotic factor that affects an 

organism’s ability to survive or reproduce in its environment. 
–  water/ food, predators, temp, soil, space, etc. 
–  could have indirect effect on  
    other populations 
 

•  Tolerance: organism’s ability to 
    withstand fluctuations in biotic and 
    abiotic factors 

Factors that limit one population in
a community may also have an indi-
rect effect on another population. For
example, a lack of water could restrict
the growth of grass in a grassland,
reducing the number of seeds pro-
duced. The population of mice de-
pendent on the seeds for food will
also be reduced. What about hawks
that feed on mice? Their numbers
also may be reduced as a result of a
decrease in their food supply.

Describe why a lim-
iting factor is important.

Ranges of tolerance
Corn plants need two to three

months of warm, sunny weather and a
regular supply of water to produce a
good yield. Corn grown in the shade or
during a long dry period may survive,
but probably won’t produce a mar-
ketable crop. The ability of an organ-
ism to withstand fluctuations in biotic
and abiotic environmental factors is
known as tolerance. Figure 3.2 illus-
trates that a population will survive
according to its tolerance for environ-
mental extremes.
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Figure 3.1
The timberline is the
upper limit of tree
growth on this moun-
tainside. Analyze How
do the limiting factors
in Table 3.1 affect
your community?
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Figure 3.2 
The limits of an organ-
ism’s tolerance are
reached when the
organism receives too
much or too little of
some environmental
factor. Populations
respond by becoming
smaller as conditions
move toward either
extreme of the avail-
ability of resources.

Table 3.1 Common
Limiting Factors

Sunlight

Climate

Temperature

Water

Nutrients/Food

Fire

Soil chemistry

Space

Other organisms
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Succession: Change Over Time  
•  Succession: Orderly, natural changes and species 

replacement in a community 
•  Primary Succession: Begins in a place without any soil  

–  Sides of volcanoes 
–  Landslides 
–  Flooding 

•  Starts with the arrival of living things such as lichens that 
do not need soil to survive 
–  PIONEER SPECIES (EX: Lichen) 

https://youtu.be/G0fDbTqqXjA 



Secondary Succession 
•  Begins in a place that already has soil and was once 

the home of living organisms  
•  Occurs faster and has different pioneer species than 

primary succession  
–  Example:  after forest fires 



Climax Community 
•  A  stable group of plants and animals that is the end 

result of the succession process 
•  Does not always mean big trees 

–  Grasses in prairies, Cacti in deserts 


